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dŝ2 =

(

1− ρ2

1 + ρ2

)

ds2 =
4

(1 + ρ2)2
(dρ2 + ρ2 dφ2)− dt2 .

 jHEO Y !
p *��8� %&��f&���

I
�"�

ρ = 1
��*�� *;�
�<������4��8�
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J0 = JXY − JUV , J1 = JY V − JXU , J2 = −JY U − JXV .
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J̃0 = −JXY − JUV , J̃1 = JY V + JXU , J̃2 = JY U − JXV .
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£ξ ĝij = £ξ (Ω
2 gij) = gij 2Ω£ξΩ+ Ω
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£ξgij = 2£ξ lnΩ ĝij .
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J0 = ∂v , J̃0 = ∂u ,

J1 = sin v ∂v , J̃1 = − sinu ∂u ,

J2 = − cos v ∂v J̃2 = − cosu ∂u .
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dgg−1 = σ0Θ0 + σ1Θ1 + σ2Θ2 .
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Θ0 = Y dX −XdY − V dU + UdV ,

Θ1 = −UdX + V dY +XdU − Y dV ,

Θ2 = −V dX − UdY + Y dU +XdV .
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ΘI(JJ) = δIJ .
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1

2

p94
(dgg−1dgg−1) = −

1

2

p 4
(g−1dgg−1dg) = −Θ̃2
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Θ̃0 = −Y dX +XdY − V dU + UdV ,

Θ̃1 = UdX + V dY −XdU − Y dV ,

Θ̃2 = −V dX + UdY − Y dU +XdV .
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Θ̃I(J̃J) = δIJ .
 �HEO A&H !

��%
4�$
'��2���
!���: $&#8C
G
��eJ'��-���=��C2+0����*F���`�i!��
��'�4��
#/������4��8�,�8�i��!/f
�
4��8�"!J��'�!;CE��4q>=$"��*

#-��: � �"!;C�4���%&*&�X��4`�"!���#8�
���-$
!;�(�"!;CF��*J'��,*��&�q��*��)��Y/���F����4�YF%
4�$
'��
G×G

 V'��W��$M��$
���
CE�8����4������h: �
����$
4 ! O0p *��a!��"��'�4`�"# ������4��8�h$
! SL(2,R) �8�<� ���
� ��#�Y���*��a������4��-�h$
: AdS3 �H�O # ! O
n ����*\��*��?�F����4��-�)���E��4���������CW�-!���*��8�,:V$&4�� $
: 4��-%&*&�3$&43#���:8�0�-!Jf
�
4��8�
!&��� �"'�4���4�� 43�
45���"!
:V$
4��W�(��*��7��eJ'��
��*��-!�%a$
:

AdS3
��$
AdS2

�-�3�5��4`�"�-%
*J�(:V$&4�+ �"4`CP6&+,� (@'��5�3*;�Rf
�N��$2��!;�5��45�
�h���"4`�"��������4(��!J��$h��*��N�F����4��8�0��!�:V4�$
!J�X$":P$
!��0$
:=��*��)�5���&�����j#-��.
�0%&��!���4`�
��$
4`�i�
!�CF��'�4�!
���NCE$I+0!\��$�k���4�$�O

ds2 = −Θ2
0 + λ2Θ2

1 +Θ
2
2 , 0 < λ < 1.

 jHEO A
A !
no�a��$
'�#-CU�
#-��$�6E�_:i+,�h+3�"!J����C\��$�6���'E�

λ2
��!U:V4�$&!&�<$":

Θ2
0

�-!��5���R�
CPO

ds2 = −λ2Θ2
0 +Θ

2
1 +Θ

2
2 , 0 < λ < 1.

 jHEO AD( !
p *��8�2��eJ'��
��*��-!�% $":

AdS3

+,$
'�#8CP6q+0*���!
λ
�8�a��'�4�!���CZ��$Tk���4�$;6�>=�R��$
����*JY/�=��4�>=$&#��8�

�����
���
6">�'E�(�_�q�8�i�W�"�-!�#-Yh��*�� 5�4��5�(��eJ'��&�5*��-!�%7+,�0�"4��,�-!&����4����5����C2�-!F*���4��
O�p *���4�� �-�q�5���-#�#
��$
���7+,$&4�.���$�>=�hCE$
!��
6E*�$
+,��f
��4�6/>=��:V$
4��7+,�h�
4��74����
C�Y���$WCE�R����4��->=�)��*��h��e&';�
��*���!�%�O
p *��N��*�4����)f
������$
4 5���#-C��,'�����Cc*���4��<��$2���E���
!�C���*��)������4��-�)CE$M!�$
�3��$
���M'E���)�
!�Cc�"4��
��*���4���:V$
4��N!�$
� �5'��_�`�">�#-�N��$2';�5�N:V$&43�2��$/$
4`CE�-!��
���N�5YE�5����� $":

AdS3
Oin]�7+,$&'�#-Cc#-��.&�N��$

*��If
�N�M��$/$
4`CE�-!��
���<��Y/�5����� �-!���$
���N+3�RY��&C��"�E����C���$M��*��7��eJ'��&�5*���CW�����
���
O�no$
4�.J�-!�%
�-!Z���"'����"%&�F��$/$&4�C���!��"���R�)$
4h���M>=�RC�CE�-!�% ��$/$
4`CE�-!��
�����7�-�h�=$&���5�->�#-�F>�'E�M��'��M>=��4���$
���&6
�"!;Cc>=���5�0�If
$
�8CE��CPO �G'��`./��#-Y
6/��*��7%&4�$&'����5��4�'�� ��'�4��)$": ��*��?���
!���:V$
#8Cc+0�-#�#P*���#-�\'�� 5�!;C
��*��a��$/$&4�CE�-!��
���?�5YE�5����� +,�a�"4��7#�$E$
./�-!�%M:V$&4�O

�
	�� ��� � ����� �"�
�!� � �
� � ��� ��� � � �
AdS3

p9$���$&!��@��4�';� �)�c��'������
>�#��2��$/$&4�C���!��"���a��YE�@�����[6=��$&!��5�8CE��40��*��2CE�8�"��������4)$":q$&!��a$
:i��*��
��$&��!;���"4 $3CE�8�5.E����!M��*�� ��$
�����&� �����8� ��'�4��3$":=�"!&���_�DCE�0L/���5����4q�����
���3CE������4��->=��Ca�-!F�5�R� ����$&!
HEO A�6/���IY2��*��)#-�-!��

t = 0, φ = 0, π
Oqp *��-�3#��-!��)�8�,>=$
��*\�M%
��$ECE�����8�<�
!�CW��*�� *�$
+ �j#-�-!��N$
:

��*�� 2?��#-#��-!�%�f
������$&4
J1
 ��"!�C

J̃1
!  ����� 5�%�HEO A ! O

gD!U��*��h%
4�$
'��\�W�"!���:V$
#8C���*��-�0#-�-!��h�-�04�����4��R�5��!&����C�>/Yc��*��a�����<$":��W�
��4��8���R�

g =

(

V +X Y + U
Y − U V −X

)

=

(

2ρ
1−ρ2

1+ρ2

1−ρ2

− 1+ρ2

1−ρ2

−2ρ
1−ρ2

)
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λ = 0
,

ds2λ=0 =
1
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(− cosh2 σdτ2 + dσ2) .
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x2 − u2 − v2 = −1 , ds2 = −(du)2 − (dv)2 + (dx)2
 �A�O ' !

��:�+,�h���
4��
�F����4���k��)���N�
�

u = coshσ cos τ ,

v = coshσ sin τ ,

x = sinhσ .
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{ξKilling} = {J0, J1, J2, J̃2} .
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ξαξα = ‖JXU‖
2 = U2 −X2 = (U +X)(U −X) = 0 ,
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ξ = (JXU + JXY )
6E��*��h��'�4�: �
�����3+0*���4��?���<>=����$
����� !/'�#�#j6

ξαξα = ‖JXU + JXY ‖
2 = (U + Y )2 = 0 ,
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∇α(U + Y )2 = 0 .
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J0 + J1 = JXY − JUV + JUV − JXU =

= (Y − U)∂X + (V −X)∂Y + (V −X)∂U + (Y − U)∂V
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dŝ2 = dτdω .
 �A�O !�& !

p *��a4��R�5'�#����-!�%
I
�-� *;�
�)�"!�C

τ
�
!�C

ω
>=����$&���h#��-%
*J�5�K#��-.
�a��$/$&4�CE�-!��"�����0�
�0+,�a+,$
'�#8C

���E�=�R� �M��*���� ��$T>;�c:V4�$
�  �H�O H"A ! O[gK�F���IYZ�5����� $EC�CZ��$T'��5��$
!�#�Yo$
!���$": ��*��c�@+,$
�����
�����K#��-.
�a��$/$&4�CE�-!��
����� ��$c4����&��*[�-!65�!����DY&6=#��-.
�M��$&�����
������:VYJ�-!�%c��!B��*�� �/�KC���4��������-$
![$":
�am('���#��8CE���
!������
���<>�'E�3!�$
�X��*��NYJ�DCE�-4��R� ���-$
! 6
>�'E�3�_�3�8�,�
����'��
#�#-YF!�$"�ROET9�-4`�@�,$
:G�
#�#j6J+,�
CE$c�
����'��
#�#-Y��R(G0)C +0*;�
�<�-!65�!����@Y\#�$E$
.E� #��-.
�h�-!U��*��-�N���&�5�&6E+3�h*��Rf
�aCE$&!��h!�$"��*���!�%���$
��*��3������4��8�X� �E�����E�q�)��$/$
4`CE�-!��
���,��*��
!�%
�3�"!�C

I
�M'��5�q�5���-#�#/>=� �)��Y/#��-!�CE��4�O��B$
4���$
f
��4R6

+,�M�
#-��$W.J!�$I+ *�$
+ ��*��M��$/$
4`CE�-!��
���?f
������$&4��0>=��*��If
�a$
!
I
�-![��*��2��Y/#-��!;CE��4N���8� ��'�4��&O

n *���!b+3�\��4`�If
��#3��$
±σ
�K��!65;!��_�@Y +,�[��!�Cb'��b$&!b$
!��U$
:N�D+,$Z#��-%
*J�5�K#��-.
�U#��-!��R�F���&��*

4����
�`*��-!�%
π u

�D��$/$&4�CE�-!��
�������
4�$&'�!�CQ��*��T��YJ#-�-!�CE��4RO^no�T�@����#-#N*��If
�U��*��[:V4����RCE$
� ��$
��$If
�a�
#�$&!�%F��*������h#-��!��R�<��![��*��

ω
�KC���4��������-$
!  

∝ u
�KC���4��������-$
!U$&!

I ! $&4 ��*��a$
���=$J�5�����#-��%&*&�5�K#-��.
�
τ(v)

�DCE�-4��R� ���-$
! Oip *��-�X:V4�����CE$&� $
:G��$If
������!&�3+0��#-#l�"#-#-$I+�'��X��$M4����
�`*W��f
��4�Y
�=$
�-!&��$
! ��*��[��Y/#-�-!�CE��4ROogK��+0��#-#0�"#8�5$]�
#�#-$I+ '��2��$T��4��If
��#3>=���@+,����!Q��*��[�"�����"4���!&��#-Y
CE�8� (@$&��!J�)�;�
���`*��R�

I±
 ���$&4�4������=$
!�CE�-!�%���$

±σ
�-!65�!����@Y ! +0*��-�`*T�&� ��';�"#-#�YU#-���M$&!�#-Y π v

�
��$E$
4`CE��!;�
���R� �"�;�"4���OXp *��h���/����!�����$&!U$
:9��*��a#��-!����<��![��*��

τ
�KCE�-4���� ����$&!\��'�4�!U��*���� �-!&��$

�@+,$F#-�-%
*&���j#-�-.
�7>��"!;C��,��*��
�0+04`�"�U�"4�$
'�!�Cc��*��h��Y/#��-!�CE��4�6 (@$
�-!���C���$&%
����*���40�"�3��*��?#-��!��R�
$": 5 �E��CM�=$
�-!&�`�9$
:

J̃2
6"��O �
Oi�
�

±ω
�j�-!65�!����@Y
6"$&4���!M��*�� ��Y/#-��!�C���4��j#-��%&*&�i��$&!��3��$/$
4`CE�-!��
������6

�
�
u = ±π/2

O
gK:i+,�h!�$I+ #-$/$
.��
�0��*��a��eJ'��
��*���CU�5���&���?��!;�@�����
C

ds2λ =
1

4
(− cosh2 σdτ2 + λ2(dω + sinhσdτ)2 + dσ2)

=
1

4
[−(cosh2 σ − λ2 sinh2 σ)dτ2 + dσ2 + λ2dω2 + 2λ2 sinhσdτdω] . A�O ! ' !

+,�c��������*��"�M�U: �
����$
4a$":
2/ sinhσ

+0�-#�#X!�$
�a>=�W��!�$&'�%
*]��$B�W�".
�F��*��c�F����4��-� 5;!��_���
+0*���![+,�h#-���

σ
%
$F��$W�-!65�!����DY&6;��!��5���R�
CU+,�a+0��#-# !�����CB�5$&������*���!�%W$
:9��*��a$
4`CE��4

e−2σ
O

 <��4��?+3�?+0�-#�#G'����
1/cosh2 σ

��$F��4�Yc��$W��$
!��5��4�'�� �<�
I
O

dŝ2 =
1

cosh2 σ
ds2 =

=
1

4
[−(1− λ2 tanh2 σ)dτ2 +

dσ2

cosh2 σ
+

λ2dω2

cosh2 σ
+
λ2 tanhσdτdω

coshσ
] , A�O !LY !

lim
σ→±∞
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